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Note : I. ‘Part—A’ may be attempted in first
6 pages of Answer-sheet.
‘qT—3r & TR, FACIRAH B TE 6
yeal g7 & 3 /
2. ‘Part-B’ may be attempted in rest
of the sheets of Answer-sheet.

YR’ & TR, TR JIRAHT B TH JBI

Ul
3. Answer may be given in Hindi or

English.

g it orerar fe=t 4 &g

[Part — A]
[WFT—3A]
1.  Attempt any 10 questions :
8} T yet & S fafad— 10x2 = 20

(i) What is energy stored in inductor ?

%m%%ﬂﬂ%%wg
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(ii)

(111)

(iv)

(v)

(vi)

(vii)

?:C_

(2) 400

Find equivalent of two resistors of 6
ohm of each, connected in parallel.

6 sirem ) T RS () A e
qafe & SiIST 7| SEE S S
1 i |

What is efficiency of circuit under
maximum power transfer condition ?
AT dTe ZiEhT ST | |ihe (TRUY)
&I g foha € 2

What is unit of susceptance ?

T~ T e AT 8 ?

Write polar form of (3 + j4).

(3 + j4) T TR ©Y FTE ?

Write SI unit of electric flux.

free e @ SI gfe fafed |

What is power factor of pure inductive
circuit ?

& Ffea afde (TRue) T A BeFe
fReT & 2 .
A R-L-C series circuit has R = 109,
L = lmH & C = 1yF, what is quality

factor of circuit ?

(ix) What is form factor ?
e e FT T 7

(x) Write relation for power in 3 phase AC
circuit.
3 B AC e (aRwe) & X H F=H
ffad |

(xi) What is resistance of circuit if it has
impedance of 5 ohm and unity power
factor 7 _
o we § Tt 5 g AU
ST & T (IF) B T TR =

faparetr BT 2
(xii) What is oriented graph ?
ST W6 FF ? :
(xiii) Write important property of incidence
matrix.
== e w Tear I fafd |

(xiv) Write condition if a two part network is
reciprocal, in terms of Y-parameters ?
2 G e 3 YR Y R Y-
F e (F5eW) i
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2, Attempt any five questions :
=8} dfe agl & Sar Q-
(i) State OrE.m ,_m.i.. e
st & for 2 e R |
(i) Find C,, for the ckt shown in figure (1).
st 1 & aRa" § C,, T B |

t

5x4 = 20

il
i

OB

%:

Figure 1

(iii) State Norton's theorem.
e & e P AT B |

(iv) An AC circuit has v = 200 sin6 & i = 20 sin6.
What is active power ?
ue |f¥e ¥ v =200 sin® TAT i=20sind
TIFRTI TR AT ?

(v)  Write significance of power factor.

e hefeX T AE fRired |
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(vi) The reading of two Wattmeters is SKW
, & 2KW respectively. What is power
factor of &BEH ? |
@ greded & QT AW SKWo T
JKW | wfe (aRue) &7 TR Hee fH
T ? ,
| \
(vii) Find Y parameters of network shown in

figure (2).
R 2 @ afi g Y-duEeR stE iR |

48 !
5 — W\~ =
28 3s
Cr—=—= —O
Figure 2

(viii) Write properties of tree.

& & 7ot fafed

[Part-B]
[wrT-4]
Attempt any three questions :

st I Tl B I AT — 3%20 = 60




(6) & 00

Explain Coulomb's law of electrostatics
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3. (a)
using example.
TETET & IYANT A AR EE B HAH B
forer & frdeem R

(b) ~ Find branch currents for network shown
in Figure (3). .
frst 8 & Aea® @l HLE FA BT

20 2Q 40

M 3Q ww,o prg
: - |e2ov

Figure 3

10V

4. (a) Explain superposition theorem using

example and write limitation of

theorem.

IETERTT BT SHART Bl §Y GRS FE&Ta
# fde SIvE qor 38 ywE ot dEE
fofed |
(b) Calculate current in 10 ohm resistor in
figure (4) using Norton's thorem.

forr 4 & Qe & e =i & ITa |
10 Sfew qHe=g & &Xe F TOMT Hiiod |

|
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- 8 (a)

(b)

(7

¢ 00
682 2Q
20
+
= 4Q 3Q
10V
Figure 4

Find current [ in circuit shown in figure,

(5). |
R 5 & i & H2 13 SN

Figure 5

Compare 3 phase & single phase AC ;
systems.

-0t qaT RTa-%a AC Fonferan bl Ja
B |

Write tie set & cut set matrices for the

graph.
Brsr 6 & UTH § 2138 qor FHe-de AR
ST I |
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(b) Show that Y = Y, + Y, for two 2-port
networks when these are oonaoneoa in J
parallel-parallel connections. J
31 G Jeaa H Ier-IRaw IS § e
w frg B Y=Y, +Y,
1. Write short notes on the following—
fpfaiaga W afie feoft Hifv@—
(a) Maximum power transfer theorem.
Frftremam qreR TEwT S
(b) Parallel resonance.

7w WA




